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GROUP – A 

 ( Objective Type Questions ) 

1. Answer any ten of the following questions : 10 ∞ 1 = 10 

 A. Choose the correct alternatives for the following :  

 i) DNS is a/an .......................... layer protocol. 

 a) transport  

 b) between application and transport 

 c) application  

 d) between transport and network.  

 ii) The ......................... nameserver certainly has the IP address of a host. 

 a) Local b) Root 

 c) Intermediate d) Authoritative.  

iii) If one were to describe the mapping between IP address and host names, 

the mapping would be 

 a) one-one b) one-many 

 c) many-one d) many-many.   
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iv) The default mode of HTTP 1.1 is 

 a) persistent connections without pipelining 

 b) persistent connection with pipelining 

 c) non-persistent connection with pipelining 

 d) non-persistent connection without pipelining.   

v) Bit stuffing is needed for address, data and FCS fields of the HDLC frame.  

 a) True b) False. 

vi) Switches also work as repeaters. 

 a) True b) False. 

vii) Which is not an application layer protocol ? 

 a) HTTP b) FTP 

 c)  RARP d) SMTP. 

viii) ARP protocol is used to map 

 a) hardware address to hardware address 

 b) physical address to logical address 

 c)  IP network address to hardware address 

 d) none of these. 

ix) TCP is a/an 

 a) reliable connection oriented protocol 

 b) unreliable connection oriented protocol 

 c)  reliable connectionless protocol 

 d) unreliable connectionless protocol. 
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B. Fill in the blanks :  

x) DHCP means ............................................................... 

xi) Layer-3 switches work on ......................................... layers of  

IP model. 

xii) CIDR stands for ........................................................... 

xiii) MAC address stands for ................................................ .  

GROUP – B 

 ( Short Answer Type Questions ) 

  Answer any three of the following.  3 ∞ 5 = 15 

2. What do you mean by connectionless and connection oriented delivery of packets ? 

What are the protocols responsible for it in TCP/IP ? 3 + 2 

3. Explain different types of line coding scheme.  

4. Explain RSA algorithm. 1 + 4 

5. What is Data Encryption Standard ( DES ) ? How does it work ? 1 + 4 

6. What do you mean by routing ? Compare link state routing and distance vector 

routing.  1 + 4 

7. What is Datagram ? When is it used ? Discuss the difference between ARP & RARP.  

   1 + 1 + 3 
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GROUP – C 

 ( Long Answer Type Questions ) 

 Answer any three of the following.  3 ∞ 15 = 45 

8. a) How many bits are used to represent the netid and hostid part of an IP address 

in Class A, B and C networks ? 6 

 b) What is multi-cast address and why is it used ? 3 

 c) Explain IP routing. How does it take place ? 6 

9. a) Describe the characteristics and application of the following network devices : 6 

  i) Routers 

  ii) Bridges 

  iii) Switches. 

 b) Answer the following : 2 ∞ 4 
1

2  

  i) Explain ISDN BRI services. 

  ii) Differentiate between broadband and baseband services. 

10. Explain any three of the following with the help of a suitable diagram/example : 3 ∞ 5 

 a) 3-way handshaking for connection establishment 

 b) Flow control at transport layer 

 c) IP subnetting 

 d) UDP Header Format. 
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11. a) Describe and compare the following routing algorithms : 8 

  i) Shortest path routing 

  ii) Flooding 

  iii) How does ATM differ from frame relay ? 

 b) List and briefly define the ATM service classes. 7 

12. a) What is congestion control ? How does it occur ? 5 

 b) How does TCP handle connection establishment and crash recovery ? 5 

 c) List and explain any five ISDN applications. 5 

13. a) Describe the characteristics of physical layer and ATM adaptation layer. Also 

show the ATM protocol model. 7 

 b) What is the difference between N-ISDN and B-ISDN ? Discuss five applications of 

ISDN. 8 

    

END 


